
Answers

1)	 a)		

						b)  Open-ended question: children can place fractions with a denominator 
           which is a multiple of 4, that simplify down to quarters.

2)	 Children should draw a number line divided into eighteenths and then mark the fractions at 6 
18 , 9 

18 , 3 
18 and 2 

18 .

1)	 3 
7 , 10 

14 and 18 
21 can all be placed on an increment of the number line as 3 

7 , 5 
7  and 6 

7 . 11 
28 would have to be placed 

in-between an increment.

2)	 Yes, this is correct. Each fraction is equivalent to 1 3 
5 .

1)	 Accept any proper fractions between 5 
10  and 15 

20 . For example, Marcus chose 22 
40 , Rami chose 12 

20  and Alana 
chose 7 

10 .

0 1 
8

5 
20

12 
16

10 
8

6 
1211

visit twinkl.com

https://www.twinkl.co.uk/resources/white-rose-maths-resources/year-6-white-rose-maths-resources-key-stage-1-year-1-year-2/autumn-block-3-fractions-year-6-white-rose-maths-resources-key-stage-1-year-1-year-2

